| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

1%} F (%] %] [%]
g 3 3 3 R
I g I g g
h 0 o o= > b
E o 20 S0t 2
E o= = F & 810
r a
10* 10* 3

[N
o
w

10°

i
o
S

10°

} Ll LA B LU B, I

Ratio
T

10 10
1 1 1 1 1
b ° 2 °
= T T T
: 24 0:0‘9 R ['4
0.9F--}--4- F il
: : b i . k : : . q R A 0.8F-- ; NS - o ] o ]
546 8 10 12 14 16 18 20 o546 8 10 12 14 16 18 20 °% 0 2 4 6 6 10 12 14 16 18 20

track x2 track x2

[N of reco track vs. si j——— géM:\mEEHL¢iE§?EH:R8BNN:HQSEHHE |YE'T|

track x?

fuf

hic
ou’!
1

true tracks
om

=
o
S

[N
o
w

fake tracks

Q

2
duplicate tracks

[N
(=}
)

Ratio




	Contents
	Page 1


